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1. Which of the following is not a role of a typical operating system?

A. Control the allocation of the machine’s resources

B. Control access to the machine

C. Maintain records regarding files stored in mass storage

D. Assist the computer user in the task of processing digital photographs

2. Which of the following systems is least efficient when encoding numeric values?
A. Two’s complement notation ~ B. Excess notation ~ C. ASCII  D. Floating-point notation

3. The bus in a computer is an example of which form of communication?
A. Serial B. Parallel C. Neither Anor B

4. Which of the following components of an operating system handles the details associated with
particular peripheral equipment?

A. Device drivers B. File manager C. Memory manager

5. Which of the following would not require real-time processing?
A. Typing a document with a word processor

B. Navigation of an aircraft

C. Forecasting word-wide trade for the next five year period

D. Maintaining a airline reservation system

6. Which of the following would be a concern of the file manager in a multi-user computer system
that would not be a concern in a single-user system?

A. Maintain records regarding the location of files

B. Maintain records regarding the ownership of files

C. Maintain records regarding the size of files

D. None of the above



7. Which of the following is an activity?
A. Algorithm B. Program C. Process D. Situtation

8. Which of the following is not a way of classifying networks?
A. WAN versus LAN  B. Closed versus open  C. Router versus bridge  D. Star versus bus

9. Which layer of the TCP/IP hierarchy actually transmits a message?
A. Application ~ B. Transport  C. Network D. Link

10. Preconditions, postconditions, and loop invariants are examples of which of the following?
A. Pseudocode B. Iterative structures C. Assertions D. Recursion

11. Which of the following is a means of controlling the complexity of a software system?
A.CRCcards B.Modularity C. Specifications D. Beta testing

12. If a queue contained the entries w, X, y, z (from head to tail), which of the following would be
the contents after two entries were removed and the entry r was inserted?
A w, X r B.y,z,r c.nyz D.r,w, X

13. The precise time complexity of which of the following problems has not yet been established by
researchers?

A. Sorting a list

B. Searching through a list for a particular entry

C. The traveling salesman problem

D. Listing all possible subcommittees within a given committee

14. Which of the following file structures is most efficient in cases in which the file is always
processed in its entirety a predetermined order?
A. Sequential B. Indexed C. Hash

15. At what “stage” of analysis is the meaning of the word ball in the following sentence
determined?

A. Syntactic analysis  B. Semantic analysis C. Contextual analysis
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